I REPR IR I 2 BT HH IR G e 3

(% A) (Hpr - T, %)
R 2 5 R 2 4 O % H R
< N R HE K LY R HE R LY (A)-(B) (C)/(B)

(A) (B) (C) X100
1. & i Bt 516, 604 17. 4 501, 293 17. 4 15, 311 3.1
2. fF H B Kk O F K OB - - - - - -
3. JeE: 53 H & 700, 787 23.6 663, 093 23.0 37, 694 5.7
4. X B K & B O & 771, 167 25.9 773, 505 26.9 A2, 338 A0.3
5. W X H & 412, 966 13.9 427, 835 14.9 A 14,869 A3.5
6. W PE % A 18 0.0 67 0.0 A 19 A73.1
7. % i & - - - - - -
8. i A 4 467, 546 15.7 450, 685 15.7 16, 861 3.7
9. #4 Fiets & 104, 691 59, 945 2.1 44, 746 74. 6
10. % I A 1,233 1,105 0.0 128 11.6
% A B H 2,975,012 100. 0 2,877, 528 100. 0 97, 484 3.4
(% H) (BA2 2 T, %)
Rk 2 SAERE Rk 2 4 O He R
K N K] HE AL L K] HE AL L (A)-(B) (C)/(B)

(A) (B) (c) X100
1. #& % # 79, 507 2.8 78, 562 2.8 945 1.2
2. Tx [ e fF # 2, 659, 829 92.0 2, 605, 461 94.0 54, 368 2.1
3. M Bk E L K AWl & - - - - - -
4. 4 & ST 4 65, 747 2.3 67 0.0 65, 680 | 98,029.9
5. ML Bk X & OF O O¥E O# 44,771 1.5 39, 707 1.4 5, 064 12.8
6. 28 & # - - - - - -
7. % 53 H & 41, 812 1.4 49, 039 1.8 A7, 227 Al14.7
% H = i 2,891, 666 100. 0 2,772, 836 100. 0 118, 830 4.3




